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N=n-i-k Z

E(Z) — E ei-(W~t—k0~N~Z)
0
— Eoei-(W»tka(nfi»k)-Z)

_ Eoe—k0~k~z . ei[w~t—k0~n~z]

e—ko»k-z ei[w-t—ko»n»z]
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1

Li nea|r
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Li nea|r
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2. 2 Stokes vector Muel l er matr
2.2.1 Stokes vector

Jones Vector
vector Jones Vector

E
J(Jones_Vector) = [EX}

y

Stokes vector

So
S(Stokes_Vector) = :l 2 1)
2
Ss
So=(E%)+(E?) 2 _2)
51=<E2x>—<|52y> 2 _3)
S2=(2EECoss) = (EE'y) +(E'<Ey) 2 _4)
So=(2EE,8n6) =i|(EE)) —(E'E)| 2_5)
€ Jones Vector

ex)- (o)

Jones Vector

(Exj:R(_g)_(cose]:(cosecow— jsinesing] (2 1)

y jsing sindcose + jcosdsing

Stokes vector
Stokes vector

X

St



1

P-cos26 - cos2¢
P.sin26-cos2¢

0

P-sin2e¢
ol ( I'ntensity)
P ( Degree of Polarization)
0 ( Orientation angl e)
€ ( El'ltpticity Angl e)
(2_1)
€ =
e=Pi [/ 4
€
Jones Vegctor St
1
cosdcose — jSindsing C0S26 - cos2¢
sinédcose + jcosdsing sin26 - cos2¢
sin2¢
1
X 0 1H 1
€ = =
0=0 J2[0 0
0
1
Y 1[0} 1
€ = =
6=Pi [/ 2 J2[1 0
_O_
>
TP ;
eE=Pi ]
=-Pi [ 4 V2l 0
__1_
1
. 1H 0
€ [ —_— .
6=Pi Jall (1)

okes
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2. 2.2 Muell er matri X

Stokes vector Mu

matri X Jones matri x Muel l er

Jones matri X

Ju Je
J=
{J 21 Jzz}

Muel l er matr i X
J11* J11+ J12* J12 J11* J11- J12* J12 J11* J12 + J12* J11 i(Jll* J12-J12* J11 J.)
+J21* J21+J22*J22 +J21*J21-J22*J22 +J21*J22+J22*J21 +J21* J22 - J22* J2

J11* J11+ J12* J12 J11* J11-J12* J12 Ji12* J11+ J11* J12 i(Jll* J12+ J22* J21
M = 1| Z520¥ 32173225 322 Z321% 321+ J22% 322 - 322% J21- J21% 322 —J21* J22-J12* J1
2

J11* J21+ J21* J11 J11* J21-J12* J22 J11* J22+ J21* J12 i(J11x 322+ J21* J12
+J12* J22+J22* J12 - J12* J22-J022* J12. —J12* J21-J22* J11 —J21* J21-J22* J1

i(JZl* J11+ J22* J12 ) i(JZl* J11+ J12* J22 ) i(JZl* J12+ J22* JllJ.) J22* J11+ J12* J22
—J11* J21-J12* J22) "\~ J11* J21-J22* J12) "\~ J11* J22-J12* J2 —-J12* J21-J21* J12 |

3..
Jones Muel | er
Jones mamatirxi x matri X
20 cosh — —snh —=| || _§phLD coshlD 0 O
LD e b 2 2
0 ei —sinhE coshB 0 0 10
L 4L 2 2 0 0 01
i | cosE —i sinE Lo -
LB e 2 0 2 2 0 1 0 0
i% —i~Sin§ COSE 0 0 cosLB -snlLB
. O e 1L 2 2 |10 0 snLB coslLB |
T D . .CD - o § [coshCD 0 0 sinhCD |
.. .CD CD D
i-sinh—  cosh— 0 e 2 , 0 01 0
L 2 2 L . |SnhCD 0 0O coshCD |
cCB . CB o8 ] [1 0 0 0
cB cOS—- Sh—- e 2 0 0 cosCB snCB O
_4nSB 0B i% 0 -snCB cosCB O
I 2 2 . 0 e ] 0 0 0o 1
EB 2. 3
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Muel l er

Muel l er
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vector
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Mu e |
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X x=EE

(EX 99 it/,é-eié)Z
[ 8] o
Jones matri X

(2_1)

(Exlj ~ (cosﬁcose— jsianing]

E,.) \sinfcose+ jcosfsing

(Exzj _(—sinﬁcose+ jcosHsingj

E,, cosfcoss + jsindsine

E tand + jtane

X= o 7 1777
E,, 1-jtanftane
X*:E
E,,
(L XX ) el?'? + XX e 172 2jX"sing
2jXsing e?'? + XX e?'?
B COS4 + | C0S2¢Sin4 cos20 sin4sin2¢ + jsing cos2esin20
| —singsin2s + jsingcos2ssin20  cosS — jcos2ssing cos26

Jones matri X Muell er matri X

1 0 0 0

0 m22 m23 m24
0 m32 m33 m34
0 md2 m43 md4



mM22 = cos” 4 +sin’ 4 (cos’ 2& cos46 —sin® 2¢)
m23=sindsin2¢ +cos’ 2eSin* £.sin46

m24 = —cos20'sin” sindeg + cos2esin20sing
m32 = —sind sin2¢ + cos’ 2esin*£.sin46
m33 = cos’ £ —sin® 4 (cos’ 2¢ cos4 +sin’ 2¢)
mM34 = —Cc0S2¢ €0S20sind —sin® £sindesin 26
m42 = —cos20sin® £sindg — cos2e sin260sing
M43 = cos2¢ c0S20SiNS —sin® £ sinde sin26
md4 = cos” 4 — cosdesin® &

(2_6) € 0 Pi/ 4
(2_6) (e, 0) (0, 0)
10 0 0
01 0 0
M = ]
0 O cosd6 —-sno
0 0O snd cosod
Muell er Matri X

(2_6) (e, 0) (Pi /1 4,0)

1 0 0O O

0O cosé6 sno O

- 0
1

0 —-sind cosod
0 0 0

Muel l er

Matri x

2(_

6)

(2_

_7)

8)
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LB TN-LC
Yy a d
p=a-d
r An-=) ( nA
271
ﬂ, _
r
LB — 2
N P P
3p (N-D-p pz% TN-LC M
N N
M :WN .WN_:L....W:S.W2 W1:HWm:HR(—mp)WOR(mp) 2_10) (
m=1 m=1
W e/ 0
0~ 0 eiF/ZN 2_11)

R(p,) - R(@,) = R(p, +¢,) M
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P eV gng.em

COS—-
. ir —ir
—sm¢-e/2N cos%-e 7on

M = R(—¢)-[Wo - R(%)} )

Chebyshev’'’s identity for

| AsnmZ —sin(m-1)Z snmZ
_ sinZ sinZ
C D snmZ DsnmZ —sn(m-1)Z
snZ snZz

Z= COS_l[%(A-F D)}

N (2_12)

n .
—¢S'—l cosy +1—=

sing cosp

1

I'siny siny
. cosy —I —
M = CO$ _gn¢ . d 2}( ¢ y4 _ ¢2+(£)2
' I'siny x 2

2 12)

uni modul ar
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TN-LC

(rubbing angl e)
Mot
N
Mrot = H R(_mp - C) 'WO : R(mp + C)
m=1
- R(-c-¢)- M- RE" - RE)
- RCOR(4)- W, - RN -R(O
= R(-c)-M - R(c)
(2_14) TN-LC
M Muel l er Mat ri x
1 0 0 0
0 Cosz¢[1_2¢2sizn2;(j+¢sin2¢sin2;( —cosZ;(sin2¢+¢C052¢Sinzl y¢c052¢isin2;(_rsin2¢sin2;(
X X X 2y
M=, Sin2¢[l_2¢Zsi2nzggj_¢cosz¢sin2;( cosz;(cosz¢+¢sj”2¢§”2’f y¢sin2¢2$in2;(_rcosz¢sin2;(
X X X X 2y
0 ypsin? y _ysin2y 1- ysn? y
x° 2y 27?
1 0 0 0
0 cos2c sn2c O
R(C) = .
0 —-sin2c cos2c O
0 o0 0 1
(2_15) 3-3 TN-LC (2
(3_9) (3 _10)eh[ 8]

12

c

2(14)

(2_

15)

15)



(a=0) X
X Y
S 1 cos2a sin2a 0 1
S S _ cos2a cos’2a  sin2acos2a O . cos2p
S| 2|sn2a cos2asin2a  sin®2a 0| | sin2p
S, 0 0 0 0 0

Stoke vectes

S, = f(a) =2cos*(a- p)

2F(0)— f(Pi/3)— f(2Pi/3) :glocos(Zp)

\3

f(Pi/3)~ f(2Pi/3)="Z1,sn(2p)

p:l-tan-l{ V[ f(Pi13) - f(2Pi/3)] }

2 2f(0)— f(Pi/3) - f(2Pi/3)
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3-2

3-2-1
(3_1) P
Mul Il er matrix
— I . i
W RERE LT L
(3_1)
S 1 cos2a sin2a 0y (1 O 0 0
S S| 1,|cos2a cos’2a  sin2acos2a O| |0 cosf -sind O
= = — L[] [ ]
S, | 2|sn2a cos2asin2a sin®2a 0| |0 sn@ cosd O
S 0 0 0)\o o 0o 1
10 O 0 1 0 0O O 1
01 O 0 0 cosf@ sngd 0| |cos2p
[ ] L]
0 0 cos6 —-sing| |0 —sing cosé 0| |sin2p
0 0 sins coso 0 0 0 1 0
Stoke vectoer

S = f(a) :IEO[“ cos2(a— p) c032%+c052(a+ p—26’)sin2%]

IO

:%[f(0)+ F(Pi/3)+ f(2Pi/3)]

la=[2f(0)— f(Pi/3)- f(2Pi/3)]/(3l,)

lb=[f(Pi/3)- f(2Pi/3)]/(-/3l,)

tan(20) = (cos2p—la)/(Ib—sin2p)

sinzé— (lasin2p—lbcos2p)/sin4(p—-0)

5=
(3_3)(3_4)

14

(6

5)

3

2)

3)

4)



3-2-2

(3_1) p 2M 6) (
a Mul |l er matri x
S 1 cos2a sin2a 0) (1 O 0 0 1
S S | l,|cos2a cos®2a  sin2acos2a O| |0 m22 m23 m24| |cos2p
= = — [ ] [ ]
S,| 2|sin2a cos2asin2a sin’ 2a 0| |0 m32 m33 m34| |sin2p
S, 0 0 0 0) (0 md2 m43 md4 0
Stoke vectoer S

S, =1(ap)= I30{1+ cos2(a— p)-[cos’(4) —sin®(4)sin® 2¢] + cos2(a + p) cos’ 2¢ cos46 sin® (%)

-sin2(a- p)singsin2¢ +cos’ 2¢sin2(a+ p)sin®(%) sin44} 3 5) (
p a=0 mn/3 2mn/ 3 I
(0, p) | (m/ 3, p) I (2m/ 3, p) 45 p :
a=0 mn/ 3 2mn/ 3 I (0, p+m/ 4) I (m/ 3, p+m

n/ 4p)

1L =100, p)+ 1 (x/3,p)+1(27/3 p):glo

L= 1(0, p+7/8)+1(r/3 p+rld)+1(27/3 p+7t/4):§lo

la, =[21(0, p)— 1 (= /3,p) -1 (27 /3, p)]/ 1,
la, =[21(0, p+7/4)— | (x 13, p+7l4)—1(2x13 p+ A/,
lb, =3[ (x/3 p)—1(27/3 p)]/1,

lb, =/3[1 (713, p+714) -1 (2713 p+xl4)]/l,

15



tan(46 —2p) = (la, + 1b) /(la, — 1b,) 3_6)
coso =[(la, sin20 — Ib, cos20)sin2(p—0) + (la, sin 20 — Ib, cos28) cos2(p — )] /(—3) 3 (7)
sinssin2¢ =[(la, sin20 — Ib, cos20) cos2(p— ) — (la, sin26 — 1b, cos20)sins2(p-0)1/(-3) 3(_ 8)

P (3_6) 0 (p, 08)
(3_7)0 (p,©®,0) (3_8)¢

16



3-3 TN-LC

(3_1) p (N _15)
a Mul |l er matri x
S 1 cos2a sin2a 0) (1 0 0 0
S S| I,|cos2a cos’ 2a sn2acos2a 0| |0 cos2c —-sin2c O
-0 °
S| 2|sn2a cos2asin2a sin®2a 0| |0 sin2c cos2c O
83 0 0 0 0) \O 0 0 0
(3_9)
0 0 1
cos2c sin2c 0| |cos2p
[}
—sin2c cos2c 0O | sn2p
0 0 0 0
Stoke vectes S
S =I1(ap) :IEO{lJr cos2(c— p)cos2(a—c—¢)—cos2ysin2(c - p)sin2(a-c-¢)
2 _ _ _ - 2 . _ _ .
_ 2¢” cos2(c— p)cos2(a—c—g)sin ;(+¢sm2(a p ¢)sm2;(} 3(10)
¢ X
Mat hmati ca
(3_10) (3_10)02 1 C = Onta):@it
1 1 1 NP .
SO:§+§COSCDent c052(¢—CDexit)+§(1—25m x)sn2®_ . sin2(-¢+ o)
_ ¢2 COSZcDent COS(_¢+(Dexit)Sin2}( _ ¢Sin218in2(_¢_q)ent +cDexit)
X 2y
:C052(¢+(I)ent_cDexit)"'SinzZSinzq)entSin2(¢_q)exit)
_¢2C082cDent COS(¢_CDexit)SinZZ+¢Sin2}(Sin2(¢+q)ent_cDexit)
x 2y
Yeh [ 9]
@Prir+ AP = a + P = [//
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(0° 60° 120 °)

p a=0 m/ 3 2m/ 3 I (o0,
| (m/3,p) | (2m/ 3,p) 45 p=p+T/ 4
a=0 m/3 2m/3 | (0, p+m/ 4) | (m/ 3, p+m/ 4)
|;,:|(o,p)+|(;z/3,p)+|(2;z/3,p)=§|0 3 11)
|;;=|(o,p+;r/4)+|(ﬂ/3,p+;z/4)+|(2ﬂ/3,p+7z/4):g|0 3_12) (
la, = [21(0, p)— 1 (z/3,p) -1 (27 /3, p)] /1, 3_13)
la, =[21(0, p+7/4)— 1 (x/3 p+xl4)—1(2z/3 p+xl4)]ll, 3_14) (
lb, =3[ (x/3 p)— 1 (2713 p)]/1, 3 _15)
b, =3[ (x/3 p+xl4)—1(27/3 p+xla)]/, 3 16)
( )
tan(4c—2p +2¢) = (la, + Ib,) /(1a, — Ib,) 3_17)

—3cos2y =[la,sin2(c+¢) — Ib, cos2(c+¢)]sin2(p—c) +
[la,sin2(c+ ¢)— Ib, cos2(c + ¢)] cos2(p —C) 3_18)

DINZZ _ (18, sn2(c+ ) - Ib, cos2(c + )] cos2(p—c) -
X

[la,sin2(c+¢)— Ib,cos2(c+¢)]sin2(p—c) 3_19)

p
(3_17§3_18¥w=y (c) X=X (c{3_19) C
(¥, X) An *d = 408 nm (forA=632

18



3-4 TN-LC

Y e h TN-LC TN-LC
TN-LC
lal la2 Ibl 1b2
0 ¢ d) lal la2 I bl I(829) (3_10)
TN-LC (C ¢ X) TN-LC lal | a?2
(3_17) (3_18) (3_19)
TN-LC ( BceicdL) TN-LClal | a2
bl b2 (3_9) (3_10) (3_11)
(3_9)

0c = ltan (12, + Ib) (12, ~ 1b,)] + 2p}

(3_17)

O = %{ tan[tan(4c — 2p + 2¢)] + 2p}

:%{40—2p+2¢+2p}
:C+% 3 _20)

c=0 TN-LC

(3_20)
+4 5 (3_20) (3_10)3_11)

—3c0s9,. =(la;sin26,. — b, cos26,.)sin2(p-6,.)+ (la,sn26,. — b, cos26,.)cos2(p—6,.)

:[Ialsin2(0+%)— Ib10032(c+%)]sin2(p—(c+%))

+[Ia25in2(c+%)— Ib, cosZ(c+%)] cosZ(p—(c+%))

gsin’ y  3psin2¢sin2y 3 21)(

2 ain2
:—3cosz¢cosz;(+3sin2¢—6¢ smxz o

19



3sino, . sin2¢ . =(la;sin26,. — Ib, cos26,.)cos2(p—-6,.) — (la,sin26,. — Ib, cos26,.)sn2(p-6,.)

= [Iaisin2(c+%)— Ib10032(c+%)] cosZ(p—(c+%))

: ¢ P\1q ¢
—[Iazsm2(c+§)— Ib, cosZ(c+E)]sm2(p—(c+E))

__3sin2pcos2y 3sin2g . 3p%sin2¢sin® y . 34 cos2psin2y

B 2 2 ;(2 V4 3_e2)
(3_20) (3_21) (3_2A)LC C W Xx)
(B €.cdL) (3_21) (398223,
4- 3
TN-LC (3_20)

(3_21) (3_22)

20



P ) 5 e 0 5
120.1(22 0. 14 81.(430. 74/2. 0684 . 93
135.(34 0. 14 81./330.41/1.9581.64
150.(33 0. 14 81./1241.0(72.038p. 28

0.094 0 .00 7 2.,39
81./33 20003 82. 28
Degr ee
(1) QUARTZ P 120 150
1.8 .
(2) £ 2
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4 -2 TN-LC
( ) (gC=C = -3° Q° 3°
P(Degrdd)Degf@e) DegrXe) Degflere) * d) |
-2.87 1L 4. 47 -90| 93 146. 62 4 0 <
0. 06 14. 49 -91./02 146. 9 405 3
3. 00 14. 36 -91./08 147. 16 406
. D78 0.074 .27 10. 04
14] 44 -91.0p2 146. 89 4053
(4_1) Il (P, A) VS A 0 P
P=Pm/ 4 lo) (P | o+t (MR 4)
| =, Q7175 |, da72 T
®
[ ]
15
1 [ ] [/]
0.5
) /
[ ] [\}
A
b p 3p 2p
2 2
(4_1) TN-LC I (P, A) V'S A
) ( ) +3)C=C P = -3° 0° 3°
C 1) X n *d
-2.87 1L7. 28 -90.69 146. 30 4035
0. 06 17. 42 -90.79 146. 57 4045
3. 00 17. 44 -90. 85 146. 84 4055
. D89 0. 07]\7 . 267 9.83
17} 38 -90. 78 46. 57 4045

22



) +6) C=C P = -3° 0° 3°
C U X An *d
- B 7 0. 14 -90. 49 146. 07 4031
0. 65 0 0. 28 -90.514 146. 29 4039
3.00 20. 42 -90.64 146. 56 4049
0.114 0.07¢4 0 25 8. 96
20} 28 -90. 56 146. 31 4039
C U X An *d
- B 7 1L4. 47 -90.93 146. 62 4043
0 6 4. 49 -91.02 146. 90 4053
3. 0|0 4. 35 -91.08 147.16 4063
- B 7 17.28 -90.69 146. 30 4035
0. 016 7. 42 -90.79 146. 57 4045
3.00 7. 44 -90. 85 146. 84 4055
- B 7 0. 14 -90. 49 146. 07 4031
0. 016 0.28 -90. 54 146. 29 4039
3. 0|0 20. 42 -90. 614 146. 56 4049
0.120 0. 34 10. 25
-90.78 146.|59 4046
(1) TN-LC (C ¢ xX An *
TN-LC C TN-LC
(¢ x An *d) (¢ x An *d
(2) g 90 Yy 270 ( STN)
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4 -3 TN-LC
4-3- T N-LC
( ) (g C=C P = -3° 0° 3°
P C U] X AnB * 0 o €
2.187 14. 47 -90. 93 -306/96 2 1 3470.4534
. 06 14. 48 -911. 02|-B46|02 1380534
. 00 14. 34 -9/11. 08]-13417./119 180 6 2|6
. 1078 0.074 00211 1@. A’
14|. 46 -91./01 14818067 4103573. 3|4
( ) ( ) +3) C=C P = -3¢
P C U] X AnB * 0 o €
2.187 17.28 -90. 69 -286/030 1 3470.3456
. 06 17. 42 -9/0. 79| -12476.[9577 183 © 483
. 00 17. 44 - 9/0. 85|-12476.[9884 1 31D.5GBP 4
0./089 0.0y77 00.2®52 908385
17|. 38 -90.78 1488501 4103475 3|0
( ) ) +6()C=C P = -3¢
P C U] X AnB * 0 o) €
2.187 20. 14 -90. 49 -286/107 1 3470.3416
. 06 20. 28 -9/0. 54|-12446./9299 1830 3 2|6
. 00 20. 42 - 9/0. 64 |-12446./9506 1/3 3 4 2|0
0./14 0. 079 0.022510 8.09.518
20|. 28 -90./56 1485300 4103379. 2|7

24
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-30.
-30.
-29.
0.29
-30.

0° 3°

-30.
-29.

0. 27
-29.

30

-29.
-29.
. 24



25

C U] X ANnB * ¢ o) €
|8 7 14. 47 - 90.93-2306902 1/3470.4534 - 30.
6 14. 48 - 9/1.02|-B46/02 13853/4 -30.
0 14.34 -9/1.08)|-13417.|1196 130636 -29
|87 17.28 -90.69-286030 1/3470.3456 - 30
6 1 42 - . 79|-12476.|9577 1|3@48]3 -209
0 1 44 -9/0. 85|-12476.,9884 1|3AD.5G9 - 29
187 20.14 -90.49-286107 1/3470.3416 - 29.
6 20.28 - . 54 |-12446.|9299 1(3B396 -29
0 20. 42 - 9/0. 64 |-12446.|9506 18T 420 -29
0./20 0.34 ~—_100. 2 0.16
-90.79 | 146. 4046 137.
TN-LC
(0,3, ¢) TN- L
TN-LC (8,38, ¢)
TN-LC (0,3, ¢)



4-3-2 TN-LC

TN-LC TN-LC
(3_20) (3_21) (3_22)
(C ¢ xX) = (14.47° -90.
| (P, A) vs A o P =PTH AP
| QP | o+ (P 4)

[/ ]

(\}

: : : — A
/2 T /3 27
(4 _2) TN-LC | (P, A)
(6,90, ¢) = (-30.993, 137. 539,
I (P, A) vs A o P =PmiH AP
I QP | o+t (MP 4)
|
1.7 Y ¢
1.
1.2
1 ® [/ ]
0.7
0. /
0.2 ®
| A
/2 T /3 27

(4_3) TN-LC I (P, A)
26

93°

vV S

-30.

V'S

3



(4_2) (4_3)

(4_2) (4_3) (4 _4)
|
®
Q@
1.5
1 » [
0- /
(\]
| A
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